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Model Test 1

Part | Listening Comprehension

Section A

Directions: In this section, you will hear 10 short conversations. At the
end of each conversation, a question will be asked about
what was said. You will hear the conversation and the
question only once. After each question there will be a
pause. During the pause, you must read the four choices
marked A), B), C) and D), and decide which is the best
answer. Then mark the corresponding letter on the Answer

Sheet with a single line through the center.

1. A) 8:00. B) 8:15.
C) 8:30. D) 8:45.

2. A) Restaurant. B) Coffee shop.
C) Dining room. D) Plane.

3. A) It’s going to rain.

B) It’s very dark.

C) The woman’s watch stopped three hours ago.

D) It’s four o’clock.
4. A) Chinese culture. B) Chinese art.

C) History. D) The Great Wall.
5. A) She is having a snack.

B) She is buying some food.
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C) She is telephoning room service.
D) She is drinking a bottle of beer.
6. A) A double room.
B) A single room.
C) A room on the second floor.
D) A room on the top floor.
7. A) Thing to wear.
B) The warm weather.
C) Best material for making clothes.
D) A bright shirt.
8. A) Peter is going to fly to New York.
B) Peter is going to fly to Iran next week.
C) Peter went to Iran last week.
D) Peter will stay in New York.
9. A) $4.50. B) $5.00.
C) $9.00. D) $13.50.
10. A) She is a taxi driver.
B) She is a tourist.
C) She is an agent.
D) She is a sightseeing tour conductor.

Section B

Directions: In this section, y « will hear 3 short passages. The
passages will be read twice. At the end of each passage,
you will hear some questions, which will be read only
once. After you hear a question, you must choose the best
answer Jfrom the four choices marked A), B), C) and
D). Then mark the corresponding letter on the Answer

Sheet with a single line through the center.
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Questions 11 to 13 are based on the passage you’ve just heard.

11.

12.

13.

A) Fever. B) Sneezing.

C) Coughing. D) Dizziness.

A) No one. B) People of strong build.
C) Africans. D) Fools.

A) Because they believe they live in a healthy environment.
B) Because they are very foolish.
C) Because they have been"immunized.

D) Because flu may produce no symptoms.

Questions 14 to 16 are based on the passage you’ve just heard.

14.

is.

16.

A) He had a bad temper.

B) He had a problem with English.

C) He was a kind old man.

D) He usually misunderstood the others.

A) Because he disagreed with the man.

B) Because he agreed with the man.

C) Because he was very happy.

D) Because he was very sad.

A) Take visitors. B) Not take visitors.
C) Put more light. D) Put less light.

Questions 17 to 20 are based on the passage you;ve just heard.

17.

18.

A) A young boy took his ball out into the street.
B) He lost it when going home.

5

C) He kicked the ball too hard and broke the window of a house.

D) He lent his ball to his father and his father lost it.
A) The boy fixed the window for her.
B) The lady was kind to let the boy go with his ball.
C) Because he asked the lady to do so.



19.

20.

E ERES TSR 2R F S

D) Because the boy told her that his father would fix the window

soon.
A) A work man. ‘ B) The boy’s father.
C) The boy’s brother. D) A neighbour of the boy.

A) The man knew that the lady wasn’t the boy’s mother.
B) The young boy broke the window of his own house.
C) The boy ran away because he wanted his ball back.

D) The young boy went to find a man who fixed window.

Part I Vocabulary

Directions: There are 20 incomplete sentences in this part. For each

21.

22.

23.

24.

25.

sentence there are four choices marked A), B), C) and
D). Choose the ONE answer that best completes the
sentence. Then mark the corresponding letter on the

Answer Sheet with a single line through the center.

The water level _ to 30 feet last night.

A) raised B) roused

C) rose D) arose

He __ to act more wisely in the future.

A) resolved B) solved

C) concluded D) settled

We are interested in the weather because it us so directly

—what we wear, what we do, and even how we feel.

A) affects B) guides

C) benefits D) effects

Though it is an efficient _____,' the poor cannot a afford it.
A) heal B) cure

C) plaster D) therapy

The poor driver was still - when we freed him from under
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26.

27.

28.

29.

30.

31.

32.

33.

his car.

A) live -B) lively

C) alive D) in life

Memory can be as the capacity to keep information

available for later use.

A) confined B) defined
C) defied D) denied
The Chinese silk is noted for its excellent in the

international market.

A) property B) making craft

C) quality D) designs

The students have fulfilled a __ set by their teacher.

A) work B) job

C) task D) works

The salesgirl said she would have to __ the supervisor about

the matter.

A) refer B) confer

C) resort D) consult

His uncle hada _ heart and gave him many valuable things.
A) large B) big

C) tremendous D) giant

One of his teaching  is explaining problems with many
examples.

A) methods B) ways

C) manners D) solutions

At the next corner the bus stopped and _~ three people.

A) got on B) got in

C) picked up D) picked in

I wanted to buy a ten-speed bicycle this year, but my father

rejected the idea a trip to Beijing.



34.

35.

36.

37.

38.

39.

40.
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A) instead of B) in view of

C) in favor of . D) in the event of

He ___ China from March 16 to 23.

A) called on B) dropped in

C) called at D) paid a visit to

Through modern medical science and technology, the average
human life has been _ to 72 years in our country.

A) lasted B) lengthened

C) stretched D) prolonged

Her fluency in English gives her an advantage _ other girls
for the job.

A) above B) over

C) than D) with

The white peak to Tianshan Mountain ___ well with the blue
sky.

A) compares B) contrasts

C) combines D) matches

In 1921 the Communist Party of China was ___ in Shanghai.
A) built B) established

C) founded D) constructed

Jim decided he __ do his homework instead of playing
football.

A) would rather B) had better

C) would like D) wished to

To be sure, some insects can build complex societies
different types of individuals performing different-tasks.
A) taken from B) made of

C) composed of D) developed from
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Part Ilf Structure

Directions: There are 20 incomplete sentences in this part. For each

41.

42.

43.

44.

45.

46.

sentence there are four choices marked A), B), C) and
D). Choose the ONE answer that best completes the
sentence. Then mark the corresponding letter on the

Answer Sheet with a single line through the center.

I needed  more money than I thought 1 would.

A) much B) many

C) any D) very

It is difficult to finda _ in the Washington area for less than

$ 300 a month. v

A) two-bedroom apartment  B) two-bedrooms apartment

C) two-bedrooms apartments D) two-bedroom apartments
Howard _ to speak with them but they appeared to be in a
hurry.

A) would stop B) would of stopped

C) would have stopped D) will stop

The assignment for Monday is to write a ____ composition

about your hometown.

A) five-hundred-word B) five-hundred-words
C) five-hundreds-words D) five-hundreds-word
Not until a monkey is several years old to exhibit signs of

independence from its mother.

A) it begins B) does it begin

C) and began D) beginning

The jury is still out. The members  the case.
A) must still be discussing B) must discuss

C) could still discuss D) may be discussing
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47.

48.

49.

50.

51.

52.

53.
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The dress in the window was __ that I couldn’t afford it.
A) so expensive B) more expensive

C) too expehsive D) very expensive

In spite of having been one of the world’s greatest golfers, Bobby
Jones, » never became a professional. '
A) chose to remain an amateur

B) choosing to remain an amateur

C) he remained an amateur

D) chosen to remain an amateur

Many of us wonder will lead to the creation of colonies in
space.

A) that the current space activities

B) if the current space activities

C) if the current space activities going on these days

D) about the current space activities

I have two boys but of them likes sweets.

A) both " B) neither

C) either D) none

There hasn’t been any rain

A) since two months

B) in the past two months

C) for two months ago

D) since it has rained two months ago

The clothes must be very expensive, but I don’t know .
A) how much it costs B) how much they cost

C) how much does it cost D) how much do they cost

The surroundings they became used to low, dark cells
with a high wall encircling.

A) being B) was

C) were D) be
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54.

55.

57.

58.

59.

60.

The practice of dining late ___ did not start in the United
States.
A) in the evening B) at the evening
C) at evening D) during evening
Eggs, although wonderfully nutritious, have = of fat
content.
A) high number B) a high number
C) the high amounts D) a high amount
. Of the two compositions, the first one was
A) the better B) best
C) the best D) better _
We must bear  that the young people might not like the
idea.
A) by mind B) for mind
C) on mind D) in mind
A concert ____ will be held next week.

A) in which the musicians’ original compositions will be
performed

B) which performs the musicians’ original compositions

C) performing the musicians’ original compositions

D) that the musicians’ original compositions will be performed

The manager of the hotel requested that their guest ____ after

11.00 p. m.

A) shouldn’t play music loud B) not play music loudly

C) don’t play loud music D) didn’t play music loudly

A reward of five hundred dollars will be given _ can identify
the bank robber.

A) to whoever B) to whomever

C) whomever D) whoever person
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Part IV Reading Comprehension

Directions: There are 3 passages in this part. Each passage is
Jollowed by some questions or unfinished statements. For
each of them there are four choices marked A), B), C)
and D). You should decide on the best choice and mark the
corresponding letter on the Answer Sheei with a single line

through the center.

Questions 61 to 65 are based on the following passage.

When we speak of a basic human need we mean something which
is necessary to life, something we cannot possibly do without. Food
is a basic human need. Without it we would starve to death; but even
if we have plenty of food, but of the wrong kind, our bodies will
suffer from a lack of the right food. This is known as malnutrition (&
FAR). '

In primitive countries, people want only the foods which can be
grown near their homes, whereas we eat foods which are often grown
many thousands of miles away from our homes. Just think of the
different types of meat we eat: beef, mutton, pork, chicken, turkey,
goose, and rabbit. We could manage on a diet of one kind of meat,
but how monotonous (B ) it would become} Even turkey, which
most of us eat only at Christmas, would become monotonous if we
ate it every day.

Yet we cannot live on meat alone, and need other foods like
bread and fruit to provide us with the other essential nutrients which
we need to keep our bodies healthy.

We can agree with primitive man that food is a basic need, but
we differ from him in our food wants because of the wide variety of

food we have available compared with him; we have a wider choice.



